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import sys
sys.path.append("statlib™)

from xtest import SAB

SAB(data, Na, Nb, N, verbose=True)
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wmiRE 1 x1 x2 x3 x4 x5 x6 x7 x8 x9 x10 x11 x12
wHaE 2 x13 x14 x15 x16 x17 x18 x19 x20 x21 x22 x23 x24
wmiRE 3 x25 x26 x27 x28 x29 x30 x31 x32 x33 x34 x35 x36



Dbk k%7 —4%%, data = [x1, x2, ..., x96] DX T, KX A O/KAER, LK B O/KAER, #
WES #ZNZFH1 Na,Nb, N & LT, SAB(data, Na, Nb, N) & X I Bz,
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data
Na =
Nb =
N =3

w Nl

import sys
sys.path.append("statlib™)
from xtest import SAB

a = SAB(data, Na, Nb, N)

SS d.f. MS F value ©p value
S 0.333333 2 0.166667 NaN NaN
A 0.055556 1 0.055556 1.000000 0.422650
SxA 0.111111 2 0.055556 NaN NaN
B 4.000000 2 2.000000 1.714286 0.289941
SxB 4.666667 4 1.166667 NaN NaN
AxB 11.111111 2 5.555556 10.000000 0.027778
SxAxB 2.222222 4 0.555556 NaN NaN



